A Walk in the Woods: Ch.3
Worksheet B
1. Bryson’s driver tells him that most people don’t last very long on the trail. Why did the group of girls from California quit the trail? (pg. 45)
a. They were too tired
b. It wasn’t what they expected
c. Someone got hurt
d. They had a family emergency 

2. On the morning that Katz and Bryson are supposed to start their hike through the Appalachian Trail (AT), Katz is having second thoughts and suggest they stay at the lodge one more night (pg. 48). Why does Katz make that suggestion?
a. It is too cold on the trail
b. He wants to have one last meal
c. He is jetlagged 
d. He has a friend starting the trail the next day


3. On pg. 56 Bryson decides to turn around and look for Katz. Bryson said that he “walked and walked, down the hill and through endless groves of trees, back over ground that I had gratefully put behind me forever, or so I had thought.” How do you think Bryson felt having to turn back around to look for Katz?
a. Happy
b. Frustrated
c. Excited
d. Confused


4. [bookmark: _Hlk536377669]On pages 60-61 Bryson and Katz realize that due to lack of communication they had unknowingly got rid of most of their food supply. Do you think they can live off what they have left for food?
1	2	3	4	5	6	7	8	9	10
Strongly Disagree		     I don’t know				       Strongly Agree
